Division par Puissances de Dix (B)

41 + 103

22 + 102

68 = 103

96 + 102

66 =+ 10*

25 + 107

99 + 10!

95 + 10?

82 + 10"

19 =~ 103

Trouvez chaque quotient.

32 +10%=

92 + 10' =

37 =103

75 =+ 102

86 + 10% =

85+ 10' =

94 + 10°% =

100 = 103 =

3+10'=

59 + 10% =
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Division par Puissances de Dix (B) Solutions

Trouvez chaque quotient.

41 +10% = 0,041 32 +10°=0,032
22 +10%=0,22 92 +10'=9,2
68 + 10° = 0,068 37 +10°=0,037
96 + 10% = 0,96 75 +10%= 0,75
66 +~10'=6,6 86 + 10% = 0,86
25 +10%=0,25 85 +10'=8,5
99 +~10'=9,9 94 + 10° = 0,094
95 +10'=9,5 100+ 10%*=0,1
82 +10'=8,2 3+10'=0,3

19 +10°=0,019 59 +10%=0,59
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